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ENGLISH VERSION

Instructions : (1) Answer all the questions on the basis of internal
option.
(2) Question Number-01 Should be must give answers
in the Answer book.
(3) Right side figure show the total marks of the

questions.

1 Choices appropriate option on the base of the internal 20

options.

(1) By which other names are scales of return is known?
(A) The Law of Production
(B) The Law of Return
(C) The Law of product
(D) Are Identified as all name given above

(2) In point of view of cost, under which name, the Law of
Diminishing return is identified?
(A) The Law of increasing cost
(B) The Law of constant cost
(C) The Law of decreasing cost
(D) The Law of instable cost

3) In point of view of cost, under which name, the Law of
Increasing return is identified?
(A) The Law of increasing cost
(B) The Law of constant cost
(C) The Law of decreasing cost
(D) The Law of instable cost

(4) Which Law of return is seen being in the first stage of Process
of production ?
(A) The Law of Diminishing Return
(B) The Law of Increasing Return
(C) The Law of Instable Return
(D) The Law of Constant Return
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(®5) In which sector context, Prof. Alfred Marshall presented the
Law of Diminishing Return ?
(A) Industrial sector (B) Service sector
(C) Agricultural sector (D) Mineral sector
(6) What is called monetary incomes received from selling of
marginal Physical productivity at current market price ?
(A) Average income productivity of factor of production
(B) Marginal income production proportion of factor of
production
(C) Marginal income productivity of factor of factor of
production
(D) Average income production proportion of factor of
production
(7)  How much profit does a producer get at the stage when price
of each factor of Production is equal to marginal revenue ?
(A) Normal profit (B) More profit
(C) Maximum profit (D) Less profit
(8 Who decides the wages rate ?
(A) Physical production
(B) Marginal productivity
(C) Marginal production
(D) Physical productivity
(9) What increase can be created by the decrease in wages ?
(A) In equality of income
(B) In unemployment
(C) In inequality of income
(D) In employment
(10) What is called the return given according to the marginal
Productivity of function of factor of production ?
(A) Functional Distribution
(B) Personal Distribution
(C) Marginal Distribution
(D) Income Distribution
(11) Which type of rent is identified by David Ricardo ?
(A) Differential rent (B) Contract rent
(C) Gross rent (D) Quasi rent
(12) "Any input of production gets more income than its transfer
earning is rent"- which economist has given this statement ?
(A) Mrs.Joan Robinson (B) Meyers
(C) K.E.Boulding (D) J.S.mal
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(13) According to economical terminology by which other name
"transfer earning Is identified ?

(A) Qualitative supply price
(B) Maximum supply price
(C) Equal supply price
(D) Minimum supply price

(14) By which other name Quasi Rent is identified ?
(A) Economic rent (B) Differential rent
(C) Contract rent (D) Shadow rent

(15) Which rent is more than economic rent ?
(A) Differential rent (B) Contract rent
(C) Specialized rent (D) Scarcity rent

(16) Which economist has given the "Dynamic Theory of profit"?
(A) Prof.Knight (B) Prof Schumpeter
(C) Prof.d.B.Clark (D) Prof. Carver

(17) "Profit is the rent of the ability of the entrepreneurs"-which
economist has given this statement?

(A) Prof. Knight (B) Prof Schumpeter
(C) Prof.J.B.Clark (D) Prof F.A Walker
(18) Which factor of production earning is uncertain ?
(A) Labour (B) Entrepreneur
(C) Land (D) Capital
(19) Which economist said "Profit is the reward for Innovation"?
(A) Prof William Fellner
(B) Prof Schumpeter
(C) Prof. J.B.Clark
(D) Prof.F.A Walker

(20) Which profit is achieved from total selling income after
excluding Explicit cost ?

(A) Economic Profit (B) Non Economic Profit
(C) Accounting Profit (D) Net Profit
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2  Answer any one question 10
1. Describe the law of Diminishing Return by example.
2. Every factor of Production gets return equal to its
marginal productivity"-Discuss.

3 Answer any one question 10
1. When the supply of the factors is less then perfectly
elastic rent arises-Explain
2.  "Profit is a result of innovation-Discuss

4 (A) write a short note on (any one) 8
1. The disadvantages of expansion size of firm.
2. Assumptions of the marginal productivity theory of
distribution.
(B) Write a short note on (any one) 8
1. Economic rent and Contract rent.
2. Innovation theory of profit.

5 Answer in brief any tow of the following 14
1. What is meaning of internal economies ?
2. What is functional distribution of national income ?
3.  What is transfer earning of factor of production?
4. How many types risks in business?
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